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1 RUS 28.400 28.200 56.600
2 ITA 27.200 27.200 54.400
3 BLR 26.000 27.575 53.575
4 BUL 26.500 25.825 52.325
5 ISR 26.900 25.350 52.250
6 JPN 25.700 25.550 51.250
7 ESP 25.500 24.900 50.400
8 UKR 25.150 24.425 49.575
9 GRE 24.750 24.600 49.350
10 POL 24.650 24.175 48.825
11 BRA 24.925 23.600 48.525
12 AUT 24.350 23.800 48.150
13 FRA 26.125 21.950 48.075
14 USA 23.850 23.250 47.100
15 Sul 0.000 26.000 26.000
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1 RUS 28.350
2 ISR 27.300
3 ITA 26.900
4 BLR 26.700
5 BUL 26.475
6 FRA 26.250
7 ESP 26.125
8 JPN 25.975
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1 RUS 27.950
2 ITA 27.650
3 BLR 26.950
4 JPN 26.700
5 Sul 26.325
6 ISR 26.300
7 ESP 26.050
8 BUL 25175
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